IRAEINEBIIFMX T ERE(ZD2)

w8 2

hEMSEREE
BREE - Z BREEEHM

- M 3 F£ 9 H




EHEERER LB K ERE(E02)

% # K - BARH A B ¥ B8 B ff & 8 =
EEATE 8,002, 088
MiEREE 9,126, 860
ERE 17,122,948 x 43.4% — 307 7,431,052
— AR EHE 8,002,088 + 9,126,860 + 7,431,052 24, 560, 000
E#RIE 673,360 + 8,390 681, 750
BEEAGE 673, 360
EEEE 8, 390
Z Dt R i 673,360 x 53.85% ( 35% = (1 — 35%) ) 362,604
BRI 681,750 + 362, 604 1,044, 354
—REEEE 1,044,354 x 53.85% ( 35% = (1 — 35%) ) — 6,738 555, 646
BNEREEHE 1,044,354 + 555, 646 1, 600, 000
HEEHE 24,560,000 + 1,600, 000 26, 160, 000




EHEERER LB K ERE(E02)

% # B - kT s Y 8 B ff & 8 =
EEIEE 40, 816
FEIEE 11,137 + 13,175 24,312
HBERFZE GD 7,272 + 3,865 11,137
#BERHE (BLE) 7,272
HBERRE (F) 40,816 x 9.47% (7.97% +1.50%) 3,865
RiGEEE 51,953 x 25.36% (24.36% +1.00%) 13,175
—REEEE 65,128 x 23.86% (22.72% x 1.05) — 667 14,872
BKERE TEfiE 40,816 + 24,312 + 14,872 80, 000
BRI 1,142,000 + 7,875 1,149, 875
EEAGE 1,142,000
EEEE 7,875
Z Ot R 1,142,000 x 53.85% ( 35% <+ (1 — 35%) ) 614, 967
£ RIE 1,149,875 + 614,967 1,764, 842
—REEEE 1,764,842 x 53.85% ( 35% = (1 — 35%) ) — 5,209 945, 158
EZ 1 1,764,842 + 945, 158 2,710, 000
BEHEE 26,160,000 + 80,000 + 2,710, 000 28, 950, 000
HEGEMALE 28,950,000 x 10.00% 2,895, 000
EEIZE 31, 845, 000




EHBEEANRE B BRNELRE L ERHEE 02
% Ed IR - wAKTiE Bff = il oo ] =
REE 17,810, 698
TEREES 17, 810, 698
EERE 8,002, 088
EERE 7,996, 088
R—yo5 3, 050, 386
-1 BER—) 5@ ¢ 66mm, EL - SIL b 73.00 23,626 1,724, 698
m
12 BER—1) 5@ G 86mm, HEL - SIL b 14. 00 24,012 336, 168
m
1-3 BLER—) 25O ¢ 66mm, B - BPEL 38.00 26, 040 989, 520
m
BRERER 1,928,137
1-4 ZHEEARROD HHELE-LE 73.00 16, 955 1,237,715
E
1-5 ZHEEARRO B-nEt 38.00 18,169 690, 422
E
DDz OE R 184, 225
1-6 B DDA VSEEHRR FEEL - DLk 5.00 36, 845 184, 225
P
TERR 2,482,670
1-71 HEREB 1.00 2,032, 670 2,032, 670
=
1-8 hsER 1.00 450, 000 450, 000
=




BHERERRE

BEN BRI BE L HRE(ED2)

% R R - BARSTiE B 2 i i) ]
DY) 350, 670
1-9 |MEERE (BEERE) .00 256, 670 256, 670
=X
1-10 #HFRRR .00 94,000 94, 000
=
EEEE 6, 000
ELBERT 2N —XREE 6, 000
1-11 L BEET -2 R—RREE .00 6, 000 6, 000
=X
R E 9, 126, 860
FERE 9, 126, 860
%% 359, 300
1-12 SAEER .00 359, 300 359, 300
=
HEAE 205,122
1-13 ERE (8 L) 3.00 68, 374 205, 122
i
Ri5 4,035,927
1-14 RIS AR .00 588, 729 588, 729
=S
1-15 BHERE .00 227, 492 227,492
B
1-16 BiH#= .00 227, 492 227,492
B
1-17 5% 2.00 240, 507 481,014

ERr




EHEERNRE LB K ERE(E02)

4 ] I - KT & By B = B & 5 HE

1-18 Zi5iaH 1.00 2,511, 200 2,511,200
=%

Ei 4,338,774

1-19 ZHEM - X@E 1.00 2,711,555 2,711,555
=%

1-20 #4HERHO K=oz o% 1.00 248, 353 248, 353
=%

1-21 BFERQ Bi5 (R/Ry &) 1.00 570, 858 570, 858
=%

1-22 SHHEik 1.00 808, 008 808, 008
=%

=& 90, 820

1-23 ZHATHIFEE 1.00 90, 820 90, 820
=%

KE - BERK 4,545

1-24 KEREH 1.00 4,545 4,545
=%

BIEE 55, 972

1-25 T EERE 1.00 55, 972 55,972
=%

Dt 36, 400

1-26 EIHEE 1.00 36, 400 36, 400
=%




BHERERRE

RN ERNFT R L ERE(ZD2)

£ b R - BARTR B 2 1t i HE

BITEAEER 681, 750
BITEAEER 681, 750
BTERAE 75, 881
1-27 BREEHINE - BAE 1.00 75, 881 75, 881

=
BITEAERR 605, 869
1-28 BHEEBLE Y FLH (BHER 1.00 52,150 52,150

=
1-29 BrERZ 0 e (FRITER) 1.00 52, 921 52,921

=
1-30 A MET BITER) 1.00 500, 798 500, 798

=
BEEIEE 40, 816
BKIEEEH 40, 816
BKIEEEH 40, 816
BIKIEE 40, 816
BIKIEE 40, 816
2-1 BKIEFEED JKE10~ 15mkK % 157.00 185 29, 045

m2
2-2 BIKEEQ K 10mk 53 79. 00 149 1,77

m2




EHEERNRE LB K ERE(E02)
£ o 1B - Bkt By H 8 B & & S

HBIREE EL) 7,272
HBREE 7,272
KE - BEZREH 7,272
KERES 4,545
2-3 KEREH 1.00 4,545 4,545

2o
BERRE 2,727
2-4 {SEREH 1.00 2,727 2,727

2y
E &R 1,149, 875
RETE 1,149, 875
RETE 1,149, 875
CIMETILYERL 1,142,000
CINEMtEE 128, 900
3-1 CINEMEEtEZ 1.00 128, 900 128, 900

2y
RZETILDER 227,900
3-2 WBETILERK 1.00 227,900 227,900

5
E - T EETFTILDOER 205, 700
3-3 #hE - THETILIERL 1.00 205, 700 205, 700
5




EHEERNRE LB K ERE(E02)

% R R - BARSTiE B % B B & i) m o=

DS 225, 000

3-4 CINETILERESIERL 1.00 225, 000 225,000
=

A 217, 200

3-5 e - | 2.00 108, 600 217, 200
=l

BE 137, 300

3-6 BE 1.00 137, 300 137, 300
=

BEEEE 7,875

EHARE 1,875

-1 EHAME 1.00 7,875 1,875
=




K& -ET/\vr—2

&5 1-1

EM - BER—UTD  H66mm, ¥fEL - SIL b

BEENEBRAFATME L ERAEED2)

1BEY (5.9m)

& 73 R - BIRTiE BAf = fili %5 = 5 &
wR—=) o<y 5. 5kW#k
=] .00 10, 887. 00 10, 887 8H
Hh & SR E B Ah
A .00 47,500. 00 47,500
FEHERAES
A .00 35, 000. 00 35, 000
hERES
A .50 25,900. 00 38, 850
HME THEAEA
% .90 121, 350. 00 7,159
= g YEZHESN 1 5.90m 23, 626. 00 139, 396
&5 12
& BER—1)T@ ¢86mm, it - TIL b+ 184Y (6.8m)
& 7 I - BIRTE BAf = fili %5 = 5 &
wR=) o<y 5. 5kW#k
=] .00 10, 887. 00 10, 887 8H
Hh B SR E B Ah
A .00 47,500. 00 47,500
FEHERAES
A .00 35, 000. 00 35, 000
hERES
A .50 25,900. 00 38, 850
HME THEAEA
% 5.80 121, 350. 00 7,038
= g YE%HESN : 5.80m 24,012.00 139, 275




K& -ET/\vr—2

&5 :1-3

& BER—YLTQ ¢66mm, B - BEL

BEENEBRAFATME L ERAEED2)

1BHY (5.6m)

& 73 R - BIRTiE BAf = fili %5 5 &
wR—=) o<y 5. 5kW#k
=] 1.00 10, 887. 00 10, 887 8H
Hh & SR E B Ah
A 1.00 47,500. 00 47,500
FEHERAES
A 1.00 35, 000. 00 35, 000
hERES
A 1.50 25,900. 00 38, 850
HME THEAEA
% 11.20 121, 350. 00 13, 591
= g YEZHESN 0 5.60m 26, 040. 00 145, 828
&5 .14
ZFN ZEEARBRDO HHEL-TILE 184Y (8.4[E)
& 7 I - BIRTE BAf = fili %5 5 &
wR=) o<y 5. 5kW#k
=] 1.00 10, 887. 00 10, 887 8H
Hh B SR E B Ah
A 1.00 47,500. 00 47,500
FEHERAES
A 1.00 35, 000. 00 35, 000
hERES
A 1.50 25,900. 00 38, 850
HME THEAEA
% 8.40 121, 350. 00 10,193
= g 1YEZAER : 8.40[ 16, 955. 00 142, 430




K& -ET/\vr—2

&5 :1-5

A BEEAHERO B-BEL

BEENEBRAFATME L ERAEED2)

1HHY (8.4[@)

% 73 R - BIRTiE BT = i %5 5 &
Y A ) 5. 5kWR
A 1.00 10, 887. 00 10, 887 8H
Hh B SR E
A 1.00 47, 500. 00 47,500
FEHMEHEE
A 1.00 35, 000. 00 35, 000
hERES
A 1.50 25, 900. 00 38, 850
HME THEREA
% 16. 80 121, 350. 00 20, 386
& i e85 : 8. 40 18, 169. 00 152, 623
&S . 1-6
ZF : BV OEREERE ML - VL b 1BH&Y (5.4XK)
% 7 I - BIRTE BT = i %5 5 =&
R—yvo<sy 5. 5kWR
A 1.00 10, 887. 00 10, 887 8H
ST Fa—-T ATV LRRF—)LEL
¥ 5.40 9, 930. 00 53, 622
Hh & SR E
A 1.00 47, 500. 00 47,500
FEHMEHREE
A 1.00 35, 000. 00 35, 000
hERES
A 1.50 25, 900. 00 38, 850
HME FHEEDY
% 10. 80 121, 350. 00 13,105
& i YE%REH : 5. 40K 36, 845. 00 198, 964




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&S 1-7
L EEHER IEED
2 g I - KT v = i £ B ik &
THFDOEERR
& 103. 00 5, 900. 00 607, 700
B KL EAER
& 23.00 1,510. 00 34,730
HIE ST 5B WS
& 38.00 7,100. 00 269, 800
HIE ST S5B WA +HIEBES
& 65. 00 13, 000. 00 845, 000
RER SRR
& 23.00 7,570.00 174,110
BHRRAR
& 23.00 3, 660. 00 84,180
AR ERR
& 5.00 3, 430. 00 17,150
& it 1EZBER - 1.00= 2,032, 670.00 2,032,670
&5 :1-8
%*ﬂ-‘ jjf‘r"—.'%it%ﬁ 1:_l'-t§l’)
&2 g I - BIKTE v = i £ B ik &
—EhEfESAER
#H 5.00 15, 600. 00 78, 000
SEhEMEAR (B5CURER)
#H 5.00 22,100. 00 110, 500
EZEHER
& 5.00 52, 300. 00 261, 500
& it EZEHEH - 1. 00X 450, 000. 00 450, 000




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&5 :1-9
2 MESERE (BEERE) 1KLY
2 £ g - BIRTE BT H = it ® W E 5 &
B S E R Em
A 3.00 47,500. 00 142, 500
FEHERES
A 2.30 35, 000. 00 80, 500
hWERES
A 1.30 25,900. 00 33,670
= it 1YEZHEH - 1.00K 256, 670. 00 256, 670
&= :1-10
2 EBHRR 1KLY
£ £ g - BIRTE BT H = it ® % W= 5 &
EBHRRE
= 1.00 94, 000. 00 94, 000
= it 1YE%HEH - 1.00K 94, 000. 00 94, 000
&5 :1-11
B BLBERT I N—AREE 1KLY
£ £ g - BIRTE BT H = it ® % W= 5 &
E LB ERT -2 N—XAREE
7N 3.00 2,000. 00 6, 000
= it 1YE%HEH - 1.00K 6, 000. 00 6, 000
&BES:1-12
B REER 1KLY
£ £ g - BIRTE BT H = it & % W= 5 &
B S E R Em
A 5.00 47,500. 00 237, 500
FEHERES
A 2.00 35, 000. 00 70, 000
hWERES
A 2.00 25,900. 00 51,800
= it 1YE%HEH - 1.00K 359, 300. 00 359, 300




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&S 1-13
& EAEGEL) 184Y G#R)
2 £ g - BIRTE By = i | W E 5 &
REE 54 kN2 2
B 1.00 3,088.00 3,088 2.00H / 8H
A= FRP D 70PSZ!
=] 1.00 66, 715. 00 66, 715 8H
B S E R Em
A 1.00 47,500. 00 47,500
FREHERES
A 1.00 35, 000. 00 35, 000
hWERES
A 2.00 25,900. 00 51,800
MAH 2H0%
% 0.50 204, 103. 00 1,020
= g 1YEZRES : 3. 00K 5 68, 374.00 205, 123
‘S 1-14
275 . RIBHIER 18 LY
£ £ g - BIRTE By = i %8 W= 5 &
B S E R Em
A 2.00 47,500. 00 95, 000
FEHERES
A 2.50 35, 000. 00 87, 500
hWERES
A 7.00 25,900. 00 181, 300
STFL—riL—r A AR ER) CHEMfEY J&)50tH
B 3.00 74, 000. 00 222,000/ 8H
AN 2H0%
% 0.50 585, 800. 00 2,929
= g 1E%HED - 1. 00E 588, 729. 00 588, 729




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&S :1-15
2 RIBHRE EGER,
2 £ g - BIRTE By = it ® W E 5 &
5fn £HD 100PSEY
B 1.00 109, 561. 00 109, 561/2. 00H / 8H
B S E R Am
A 1.00 47,500. 00 47,500
FREHERES
A 0.50 35, 000. 00 17,500
hWERES
A 2.00 25,900. 00 51, 800
AN 2E0%
% 0.50 226, 361. 00 1,131
= g 1YEZHED 1. 00 FRr 227,492. 00 221,492
&S :1-16
&% BIBEE EGER,
£ £ g - BIRTE By = it € W E 5 =&
5fn £HD 100PSEY
B 1.00 109, 561. 00 109, 561/2. 00H / 8H
B S E R Em
A 1.00 47,500. 00 47,500
FEHERES
A 0.50 35, 000. 00 17,500
hWERES
A 2.00 25,900. 00 51, 800
MAH 2H0%
% 0.50 226, 361. 00 1,131
= g YEZHED 1. 00 FR 227,492. 00 227,492




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&5 1-17
¥ BIBER ERED
& 73 R - BIRTiE BAf = B %5 B 5 &
5fn £HD 100PSEY
=] 1.00 109, 561. 00 109, 561/2. 00H / 8H
Hh & SR E B Ah
A 1.00 47,500. 00 47,500
FEHERAES
A 0.50 35, 000. 00 17,500
hERES
A 2.50 25,900. 00 64, 750
HME EXZNOY)
% 0.50 239, 311.00 1,196
= g 1YEZHED 1. 00 FRr 240, 507. 00 240, 507
5 :1-18
& ¥ BiBEE IEED)
& 7 I - BIRTE BAf = B % B 5 &
E=t
= 1.00 2,511, 200. 00 2,511, 200
= g 1YEZHEH - 1.00K 2,511, 200. 00 2,511, 200
=5 :1-19
ZF B - BE IEED)
& 7 I - BIRTE BAf = B % B 5 &
REfR FRP D 70PS%E! 3.0t
=] 39.70 64, 640. 00 2,566, 208 8H
REE 54 kN2 2
=] 42.70 3,088. 00 131, 857/2.00H / 8H
HME EXZNOY)
% 0.50 2,698, 065. 00 13, 490
= g 1YE%HEH - 1.00K 2,711, 555.00 2,711,555




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&S :1-20
B MAERD R—Urivio%H 1KLY
2 £ g - BIRTE By = B O ® W E 5 &
A2 o R 4tF5 2t
B 4.50 31, 893. 00 143,518/5.80H / 8H
hWERES
A 4.00 25,900. 00 103, 600
MAH WEIER D%
% 0.50 247,118.00 1,235
= g 1YEZHEH - 1.00K 248, 353. 00 248, 353
&5 :1-21
& HAERO RBiE (RS A 14y
£ £ g - BIRTE By = B Ol & % W= 5 &
STFL—riL—r A AR ER) CHEMfE> J&)50tH
B 2.00 74, 000. 00 148, 000 8H
hWERES
A 4.00 25,900. 00 103, 600
B E TEHRER
= 1.00 318, 000. 00 318, 000
MAH WEIER DY
% 0.50 251, 600. 00 1,258
= g 1YE%HEH - 1.00K 570, 858. 00 570, 858
&BES:1-22
B HELERR 1KLY
£ £ g - BIRTE By = B Ol & % W= 5 &
B S E R Em
A 16. 00 47,500. 00 760, 000
REE >4 kN2 2L
B 8.00 6, 001. 00 48,008/6.00H / 8H
= g 1YE%HEH - 1.00K 808, 008. 00 808, 008




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&S :1-23
B ERATHISEE IE=P)
2 5 g - BIRTE BT B = it | 5 &
AT JE12, 14cd E-1E!, E-8E!
= 1.00 86, 496. 00 86, 496
HERE BHROY%
% 5.00 86, 496. 00 4,324
& it 1YEZHERH - 1.00K 90, 820. 00 90, 820
‘S :1-24
27 . KEREH IE=P)
&2 5 g - BIRTE BT B = it %8 5 &
KEREH
= 1.00 4,545.00 4,545
& &t EZEHEH ;- 1.00 4,545. 00 4 545
&S :1-25
2 EIEEE IE=P)
&2 5 g - BIRTE BT B = it %8 5 &
EIEEE
= 1.00 55,972.00 55,972
& it 1YEZHEH - 1.00K 55,972.00 55,972
&S :1-26
2 EIHAEE IE=P)
&2 5 g - BIRTE BT B = it %8 5 &
HEIREE
TIiE 1.00 36, 400. 00 36, 400
& it 1EZBER - 1.00= 36, 400. 00 36, 400

10




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&S . 1-21
ZF  BEFEERINE - HhIAE IEE1D)
% 73 R - BIRTiE BT = i 5 &
A (A)
A 0. 60 51, 200. 00 30, 720
A (B)
A 0. 60 40, 600. 00 24, 360
HEm (C)
A 0. 60 32, 800. 00 19, 680
EHRARE FHEEDY
% 1.50 74, 760. 00 1,121
& it E%82H : 1.00=% 75, 881. 00 75, 881
&5 :1-28
BFR BREBEE Y E L (BITER 1KLY
% 7 R - BIRTiE BT = i 5 &
A (B)
A 0.70 40, 600. 00 28, 420
HEm (C)
A 0.70 32, 800. 00 22, 960
EHRARE FHEEDY
% 1.50 51, 380. 00 770
& it E%82H : 1.00=% 52, 150. 00 52,150
&5 :1-29
2 ETERZE DR (RITER) IEED)
% 73 I - BIRTE BT = i 5 &
A (B)
A 0.70 40, 600. 00 28, 420
HEm (C)
A 0.70 32, 800. 00 22, 960
EHRARE FHEEDY
% 3.00 51, 380. 00 1,541
& i E%82H : 1.00=% 52,921.00 52,921

1




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&S :1-30
B RERGENT BITER) 1KLY
2 £ g - BIRTE By = B O ® 5 &
F1EBAR GEED
A 2.40 57,400. 00 137,760
AR (A)
A 2.40 51, 200. 00 122, 880
AR (B)
A 2.40 40, 600. 00 97, 440
HAf (C)
A 4.20 32, 800. 00 137,760
EHARE FEEDY
% 1.00 495, 840. 00 4,958
= it 1YEZHERH - 1.00K 500, 798. 00 500, 798
&S 2-1
ZF : BKEED KFE10~15mKiH 1HHY (966m2)
£ £ g - BIRTE By = B Ol € 5 =&
Bkt D 180PSE! 3~5tH
B 1.00 154, 737.00 154,737 8H
WERER Bk 20%
B 1.00 19, 305. 00 19, 305
AN 2{KDY%
% 3.00 174,042.00 5,221
= g YEZERES : 966.00m 2 185.00 179, 263
‘S :2-2
ZF : BKEEQ  KFE10mEKE 1TB%HY (1200.6m2)
£ £ g - BIRTE By = B Ol & % 5 &
Bkt D 180PSE! 3~5tH
B 1.00 154, 737.00 154,737 8H
WERER Bk 20%
B 1.00 19, 305. 00 19, 305
AN 2KDY%
% 3.00 174,042.00 5,221
= g YEZEREN - 1,200.60m 2 149.00 179, 263

12




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&5 :2-3
& F  KEREHE 1KLY
% £ g - BIRTE BAf = B O | 5 &
KEREH
= 1.00 4,545.00 4,545
& &t 1EZHEH ;- 1.00X 4,545. 00 4 545
BS . 2-4
2 EEREH 1KLY
% £ g - BIRTE BAf = B O | 5 &
EEREH
= 1.00 2,727.00 2,127
= it 1YEZHEH - 1.00K 2,727.00 2,721
&S : 3-1
&% CINEMEEE 1x5Y
% £ g - BIRTE BAf = B O | 5 &
EX T TC D)
A 1.00 57,400. 00 57, 400
AR (A)
A 1.00 51, 200. 00 51,200
AR (B)
A 0.50 40, 600. 00 20, 300
= it 1YE%HEH - 1.00K 128, 900. 00 128, 900

13




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&S .32
B HMEETILER 1L
% 73 R - BIRTiE BT = B Ol %5 5 &
EX T TC D)
A 1.00 57, 400. 00 57, 400
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 1.50 40, 600. 00 60, 900
HEm (C)
A 1.00 32, 800. 00 32, 800
& i YE%8EH : 1.00H A 2217, 900. 00 2217, 900
5:3-3
L #hE - TEETILEK 1L
% 7 R - BIRTiE BT = B Ol %5 5 &
A (A)
A 1.00 51, 200. 00 51, 200
HEm (C)
A 2.50 32, 800. 00 82, 000
Hftt &
A 2.50 29, 000. 00 72, 500
& i fE%8EH : 1.004h 5 205, 700. 00 205, 700
&S .34
275 : CINETILSREE/ER 1KLY
% 73 I - BIRTE BT = B Ol %5 5 &
EXTAC D)
A 1.00 57, 400. 00 57, 400
A (A)
A 1.50 51, 200. 00 76, 800
HEm (C)
A 1.00 32, 800. 00 32, 800
Hftt &
A 2.00 29, 000. 00 58, 000
& i E%82H : 1.00=% 225, 000. 00 225, 000

14




K& -ET/\vr—2

BEENEBRAFATME L ERAEED2)

&5 :3-5
2% il - B 1E&Y
£ £ R - BAKTiE =-Fiva = B ) " &
FE AR (G%ED
A 1.00 57, 400. 00 57, 400
A (A)
A 1.00 51, 200. 00 51, 200
& & YegheH  1.00@ 108, 600. 00 108, 600
&S :3-6
&% BE XLy
£ £ R - BAKTiE =-Fiva = B ) " &
EXE2TAEH))
A 1.50 57, 400. 00 86, 100
A (A)
A 1.00 51, 200. 00 51, 200
& & Veghe S 1. 005t 137, 300. 00 137, 300
&BE :3-7
&% BXARE 1%y
£ £ R - BAKTiE =-Fiva = B ) " &
EHERARE
=% 1.00 7, 875. 00 7,875
& & Veghe S 1. 005t 7, 875. 00 7,875
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